TUTORIAL # 9
[image: image1.png]6.1 A square box beam is made of two 20 X 80-mm planks and two

20 X 120-mm planks nailed together as shown. Knowing that the spacing be-
tween the nails is s = 50 mm and that the allowable shearing force in each nail

is 300 N, determine (a) the largest allowable vertical shear in the beam, (b) the
corresponding maximum shearing stress in the beam.
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[image: image4.png]6.2 A square box beam is made of two 20 X 80-mm planks and two
20 X 120-mm planks nailed together as shown. Knowing that the spacing
between the nails is s = 30 mm and that the vertical shear in the beam is

V = 1200 N, determine (a) the shearing force in cach nail, (b) the maximum
shearing stress in the beam.
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[image: image7.png]6.7 The American Standard rolled-steel beam shown has been reinforced
by attaching to it two 16 X 200-mm plates, using 18-mm-diameter bolts spaced
longitudinally every 120 mm. Knowing that the average allowable shearing
stress in the bolts is 90 MPa, determine the largest permissible vertical shear-
ing force.
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[image: image10.png]Appendix C. Properties of Rolled-Steel Shapes
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[image: image12.png]6.8 Solve Prob. 6.7, assuming that the reinforcing plates are only 12 mm
thick.
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